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QID : 151 - Complete the sentence using appropriate option.

Every boy and girl................. in the class today.

Options:

1
2
3
4

are present
is present

have present

had present

~—_ ~— ~— ~—

Correct Answer: 2) is present

Candidate Answer: 1) are present

QID : 152 - Choose the sentence with the future perfect tense.
Options:

1) They shall have arrived by then.
2) They shall be arriving by then.
3) They shall arrive by then.

4) They shall have been arriving by then.

Correct Answer: 1) They shall have arrived by then.

Candidate Answer: 3) They shall arrive by then.

QID : 153 - Choose the correct sentence.
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Options:
1) When | woke up, he has already eaten breakfast.
2) When | woke up, he had already eaten breakfast.

)
)
3) When | had woken up, he had already ate breakfast.
4) When | had woken up, he has already ate

Correct Answer: 2) When | woke up, he had already eaten breakfast.

Candidate Answer: 2) When | woke up, he had already eaten breakfast.

QID : 154 - Complete the sentence using appropriate option
Meera............ for the charitable cause.
Options:
1) came to contribute
2) come to contributed
)
)

3) came to contributed
4) comes to contributed

Correct Answer: 1) came to contribute

Candidate Answer: 2) come to contributed

QID : 155 - |dentify the tense used in the given sentence.
" My father's shop has been sold out."

Options:

1) Past perfect tense

2) Present perfect tense

)
)
3) Past indefinite tense
4) Present indefinite tense

Correct Answer: 2) Present perfect tense

Candidate Answer: 1) Past perfect tense

QID : 156 - Fill in the blank with the past perfect tense form of the verb given in the bracket.

"Vikram......... his job." (do)
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Options:

1) Did

2) Was doing
3) Had done
4) Had been doing

Correct Answer: 3) Had done

Candidate Answer: 1) Did

QID : 157 - Select the most appropriate option to change the sentence from direct speech to
indirect speech

"l love chocolates after dinner", she told.
She said that...... chocolates after dinner.

Options:
1) Iloved

2) heloved
)

)

3) you loved

4) she loved

Correct Answer: 2) he loved

Candidate Answer: 4) she loved

QID : 158 - Select the most appropriate option to change the sentence from direct speech to
indirect speech

He said, "l will have completed my B.A. by next year".
He said that he.......... completed his B.A. by the........

Options:

1) Would have/coming year
2) Might have/next year

3) Will be/this year
4) Should be/past year

Correct Answer: 1)  Would have/coming year

Candidate Answer: 1) Would have/coming year

QID : 159 - U= HTVT had 3fifsafad &1 ATeqH gt el afees Wd T BT AT g
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Options:

1) forem
2) U
3) d1adid
4) g

Correct Answer: 3) dIddid

Candidate Answer: 3) STadid

QID : 160 - U<: "Sfadr &1 U fAf¥a orf grar g, o wft faenfifal &) ug =R sq Sy & s
T 3 7Hd © -

Options:

1) forht wfaar &1 te i orf & w1y g =iy

2) T+t faemdff e srva ofk ufvawr & & i wd §

3) ®id 7 Hidar T Y 7 foret o gx faamf &t wwern =
4) 3ITT-37T 31 T T U &1 Ufshar 1fdd gt 8

Correct Answer: 2) ot faemelf o 3JHd 3R gfkazr & Bl wfaar ﬂﬂ%ﬁ %‘
Candidate Answer: 2) It faanif 3= s/qya oiR ufka= & €t Sfaar gwed §

QID : 161 - 4T 3R I & &9 -
Options:

1) ®1E FfYya dey el g
2) U difheh Y&y Bl &
3) P Y TS e B
4) Ts RAfYyd Jey gar g

Correct Answer: 1) ®Is [Hf¥d Gae T8l grar
Candidate Answer: 1) ®Is Fi3d &Y T8 graT

QID : 162 - SgHIVS FH&T & eal BT HTHT-
Options:

1) T & =T T ST B off Feball §

2) U Sifed Tl ], ST 3 YU a7 et &
3) fe=al HTHT T Hefmaefl T d1ex gl I8+ a6y

4) 9gd TR IHwR 8, oraesT Pis THTe T8t §
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Correct Answer: 1) IIIHT & ¥U H STIHA D1 S Tebell &

Candidate Answer: 1) T & 0 H T P off Jobell §

QID : 163 - f&<l 1T IiRaq & T # waim 3 H ugH a1dt 9=d T gg 31fdrd § fb g8-
Options:

1) &St {9 3 YRTaRt SR Ahifaaal & o T

2) faft= deut o Yy &1 gqTet T R I

3) TEHYYT HTST BT THTE TN R Gb

4) &St vt 1 gEd RaHTae & 91 9%

Correct Answer: 2) faft= deui & &<t o &1 guTdt uai R 9

Candidate Answer: 2) fafi= i & <Y 1T HT THTET TaRT R Toh

QID : 164 - IAY fhda UHR & gl 872
Options:

1)9:

2) TR

3) 3113

4) 9

Correct Answer: 1) &:

Candidate Answer: 1) &:

QID : 165 - ‘3T I HITAHY 81 I’ {5 are T 31801 82

Options:

1) GegarE® AR
2) Ydhdarded are
3) FSeara® areg
4) TTBEAED A

Correct Answer: 4) STS[AIHD dId]

Candidate Answer: 4) STSIAIHD did]
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%D : 166 - 1S3 : 17 faU T Srfede &1 UgdHR I U U=AT & Ag1ead IUGad SR il fadbed
R

AR HATSA! Seall & Sgd URIG RICISR 31 d 31 Y& Tfaar a1d 3| T = g7 b 3170 3t Yax
Tfd &4 76 Id 81 511 HeT 6 & fd Fgil TedT 51 98 4l ot Ted 4 & teRr J off, 34 ot Ridh ger
1 e few get faan af gfd v 81 Tt o faemedf &1 o ufvea M 8, W-4H 819 § Teg &l
2 e &1 H1 § | 3F 98 W-HTH 54 817 Te3h o1 AR 3f -0l 12 & HTHT STl ¢ o Tehr=r &bt
fopRur arexy gId §, 98 MU fars St 8, 9 GHRT o @' § 98 Y H, 31u1a § wier & =16l 31|
98 79 U BT 8, 9d H G- Hiod-FY vl § | HH BRA-PXA R B ofd T YT el §
T9 IR =0, T Wfed, T 61 G Ual Iadl § | W-41 T HH R gU o W IR T 3 8l 8,
e A e €1 gfery fRren <t 8T o wapeh, afew oiax § SipRd gl € 3R 39 ufthar A fRiers
Had dTER Y AeE HAl 8| o U1 & 3fpRa 81 H, 39 Upfeerd g H Hem 89 3 el R Tahd |
TR SR q WIE-UT T, FARTS BT, UHT B IR 31 R Thdl 7 |

TG B SMYR TR FHgl off Javdl g 1ob-

Options:

1) e &1 Tya 7T 8

2) fer faeera & fyad @
3) e ufkaR & e @
4) e S HUT 7

Correct Answer: 4) fR1&T 31 T4 §

Candidate Answer: 4) eI IYg §

%l%qwrﬁém::ﬂ%ﬁnﬂn&a%?%wuﬁwuﬁ%ﬁﬁmmwwﬁm
|

AR HATSA Scall & Sgd URIG RICIHR A1 d o1 Y& Jfoar a1d 3| AT = g7 b 317 31 Yoz
T 4 76 Ad 81 511 BT [ & Ffd Hel TdT 5| 98 Hdl ol Usd 4 ol TaR # ff, 7 ot Rith ger
o1 Wi few ger faan d gfd Yeve 81 Tt i faemf &1 sroem o o 1, W6-4E 84 & 7eg o1
B 18 T HH §1 3 98 W-HMH B9 812 J&h 3o A 3 3-571 Yy T TIH1 o1l § 3 JebTe1 Bt
fRur efeRy B1cft B, 783U fewrs At B, 9 GHRI S @ © 98 9 H, 31urd H Iwg § 7Y ofran
I8 79 UHC BT 8, 919 H G- Hiod-HH ol § | HH PIA-PXA YR B ofd § Ao XAl
T9 TRT =Y, B W, T &1 HJ Ual Iadl o | W- = HH Hd §U o W W I o 8T |,

I O e 71 gafere Rrem < €Y o T, fep iR F 3ipiRd gielt 8 iR 39 ufshar & e
HId TT6R Y GG BT ¢ | o U & SiHRd g H, $UP UPHicdd s H T 0 TS -Tol HR Gdhd |
TR TR q WIE-UMT T, FARTS BT, UHTR B TR 1S HR Thdl & |

R &1 B 2-

Options:
1) faemff &1 Rt 9 uRfera smn
2) faamdff »! fawal § ufkferg s

3) faemdf & Rreg-war ¥ ufkferd e
4) foendff o1 wd T uRfra e

Correct Answer: 4) faamff &) W @ ulfad sxmn

Candidate Answer: 4) faemff &) g 3 uftferg &
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%D : 168 - 1337 : i AU 7Y 3o BT UgHR B U YAl & WElHad IUged IR aId faded
R

ARHATSA Seall & Sgd URIG RICIHR 31 d ol Y& Gfaal a1d 3| AT = g7 b 317 3=t Yax
Tfd 34 76 Td 81 511 HeT [ & i Fgil Tgd 5| 98 Jfd ol Usd 4 &1 ToR J ff, 3 ot Ridh ger
BT WIaq. few ger faan i gfd Yeve g1 Tt i faemlf &1 sroen ufee oM 8, W@-4 8F & Oeg o1
& 18 BT HH ]| 3 98 W-HMH HY 812 J&F 3o AR 3 3-57 Yy B [T o1l § 3 g1y ot
fohur 3T BY B, 98 oMUl fewrs it B, 39 gART S % § 98 Y H, 3ivra Hf whe H e Sfra
9g d9 Udhe gId1 8, Od H W-4H PHelod-dH Bl § | HH HRA-BHRd GRbd BT o H T Bl §
T9 TR =Y, B Wfad, T &1 T Ua1 Iadl ¢ | - =0 HH Bd §U o W AR A o 8T |,
e A e 81 gfery fRren < 78T o v, afew oiax § SipRd gl & 3R 39 ufthar A fRiers
Had dE Y AeE Bl & | o1 WY & fHRd 81 H, 3% Upieerd g H e 89 $3 el R Tahd |
TR TR q WIE-UTHT T, FARTS BT, UHT B IR 31 HR Thdl 7 |

' BT YTy NG

Options:

1) &H
2) qfad
3)
4) T

Correct Answer: 2) Sfad

Candidate Answer: 1) o

%D : 169 - 1321 : 17 foU U 3redE FT UgHR YD MU ULl & HEIRIETH IUYE IR a1 fawme
ER

ARHATSIAl 3ed & agd Ui RIIHR 31 d §81 a3 Gfcidl 941 A1 A1 2 IBT [ 311 31 e
Hfel B G oI 1 351 el fob H Tl bl Mol § | I8 Hiel o Uge & € R H ff, A4 @ Ry weR
o1 Wi few ger faan i gfd Yeve 81 Mt faendf &1 sroen uRaa uH #, W-4E §H § #eg o1
B 18/ T B §1 3d 98 W-HH HY 812 J&F 3o AR 3 3-571 A & T o1l § 3 Gabrer ot
0T 3ewd Bt B, a8 3imueh! foars At B, 38 sURT S ' ® 98 Y H, 34T F gAY LY 3|
9E d9 Udhe gId1 ¢, Od H W-4H FHood-H Hdl § | HH HRA-BHRd GRbd BT o H T Bl §
J9 TRT =Y, B W, T &1 T Ual Iadl o | G- = HH Hd §U o W W I o 81T |,
It O Rren 71 gafere Rrem < €Y o Wb, e iR F SiHiRd gielt 8 iR 39 ufshan & e
HId e A e Bl g1 o T & fHRd g H, TP UGfeard g & Hel g0 $ g1 HR Thd |
TR TER Y WE-UHT &1, FRIS AT, UHTR BT HARIT TG HR Al g |

IHI .

Options:

1) YT BIaT &
2) fHurgiar g
3) SR B §
4) TOAF B &

Correct Answer: 2) fp=ur gie %‘
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Candidate Answer: 1) YD grar %

%D : 170 - F13=7 : i AU U 3o BT UGHR UB U YAl & el IUGEd IR aId fadeq
ERY

ARHATSA Scall & Sgd URIG RICIDR 31 d ol Y& Gfaar a1d 3| AT = IBT b 317 3=t Yax
Tfd 34 76 Td 81 I HeT 6 & fd Fgil TedT 51 98 Jfd ol sd 4 &1 ToR 7 off, B ot Ridh ger
o1 WIaq few ger faan i gfd Yeve g1 Tt i faemlf &1 sroen ufae uH 8, W-4 8H & Oeg o1
B 18 T HTH §1 3 98 W-HMH HY 812 J&F 3o AR 3 3-57 Yy B [T 971l § 3 Gty ot
foRuT sfea BI 8, 98 SMU! fe@Ts 4t §, ¥ GHRT Sl @' § 98 A H, 31vTa o 9oet o a1 offaT
9E d9 Udhe gId1 8, Od H W-4H FHeod-dH ddl § | HH HRA-BHRd R BT o H T Bl §
T9 TR =Y, A Wfad, T &1 T Ual Iadl ¢ | -8 = HH Bd gU ot W AR A o 8T |,
e B8 e B 1 gafery Rrem & =1t S Wb, afep 3er ¥ 3ipRa BIcft § @ik 39 ufebar & freres
HId TT6R Y TGS BT ¢ | o U & iGN g 8, $UP UPHicad s H e 80 TS ol HR Gdhd |
TR TR q WIE-UTHT T, FARTS HAT, UHT B IR 1S HR Thdl 7 |

g gt Yo Afdar s91d A1 a1 B UiIRwor -

Options:
UES]

¥R
3) il
4)d

Correct Answer: 2) ﬁﬂ?

Candidate Answer: 1) a@ﬁ

QID : 171 - &= : 2 fAU MW S BT UgHR U T U=l & HEHaR SUGEd SR dTd [ddbeq
3 gl

ARGl 3eal & ggd UNTs RIIDHR 31 d F81 Y& Gferdl 941 A1 A 2 I o 311 311 e
Tfd & 76 Ad 81 IBIH FeT i & gfd Fef e g1 a8 I O v ¥ § mer H off, A4 I Rk ueR
1 WTad e gl fean ot Tid ube g1 it | ot faemelf &1 31 uied o #, -4 819 8 Hag Bl
B 18/ T B §1 3d 98 W-HH B4 812 Y& 3o AR 3 3-571 Y & T o1l § 3 Gabrer ot
foRuT 3T BYt 8, a8 MUl fiars it B, 39 gHRT S % § 98 Y H, 3Ta W whey H e oiran
I8 09 TP 5idT 5, 919 H WG-41 Hiod-HH HRal § | HH PIA-PXA YR BT od H GTHA1 XAl &
9 TRT =Y, B Wfad, T &1 T Ua1 Iadl o | G- ¥ HH dd gU o W AR A o 81T |,
e A e 81 gfery fRren < &Y S Wepeh, afed oiex § SipRd il & 3R 39 ufthar # Riers
HId TTER Y HEe BT ¢ o MY F iGN e T, 39 Upfead a1 H HeT 0 5 T8 HR Tbd |
TR TR § WIG-UHT T, FARTS BT, UHTR BT TR 1S FR Thdl & |

&WWﬁW%-

Options:

1) Ra
2)d
3) 3f
4)=d



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Correct Answer: 1) fa

Candidate Answer: 4) 3d

QID : 172 - HIS U THTIoIe U107 g | S9HT o ¢ fb a8 W fu oiR gaRl &1 o o9 <1 98 oA
-9 & 1Y GIRI & YE-g@ &1 3R ff & ¢ 1 30 Wi 3l BIgH gu”l & fgd &1 i i |
3T T g BT AadT Aal ¢ | R 8 et Aadl 8| Tt Tedt 4 § 1 TS S{U & a1
I % IR WRIgd HR Ibdl g1 98 T I, 47 J 7 7 F S1UaT ol I ORI Bl YATS HR qhell
B TRl & U Tt Teryfa T ft iRfed g1 fnht &t e & s, fondt &1 $ant § ger,
forelt gt SR R ufakd ! i &1 +ft TRfgd & BT Sicidl offa 81 T X 3 BN-ga 31
T & F1eT ST a1l X1&R1 1 UK | 91 7ilg 2 Al &1 S 6T, J91e SiRile A RIMH-
RIM W F, qTeTs 3M1fe FEard Sl BT IUSHR fbaT| T8t Ar-ddl &1 T o g

T &7 ¥ §:-
Options:

1) 98 W9 o0 iR gl &1 i S
2) 9t & THH I

3) WeT Afaew Agwt &1 ure

4) fE A gura

Correct Answer: 1) 8 W9 o0 oiR @RI &1 i o &
Candidate Answer: 1) 98 T fiT 3R g¥RI &1 R oA

QID : 173 - AT U QIR UToR 51 S9aT ot § fob a8 ad o SR gal &1+t i ¢ | 98 3o
TE-gT & Y GERI b G&-g@ D1 3R ff & 1 310 Wi &l Bleax gi)l & fgd &1 off Wid|
3T T g BT AadT Ta! ¢ | R 8 el Aadl ¢ | Ja! edl YH g | T 301 &Far a1
I & IR WG HR bl g1 98 T 9, U 1 A1 T J YaT il § GERI 1 Hells B qabell
BRI & U Tt Ui e iRfga B 1 frlt Y Yahe @ s, feedt Y pamt @ ger,
Tl g SiR FRTYT SHfad &1 Fia1 &1 it RIgA & BT SRl STl & | HTaT I A By-gHaT ot
TOT H ST ST aTel A& BT TR 52T | S31 TXitg A A BT IIH T, T SRl 2 RIH-
RIM R HY, AT 1S GeardR ST BT IUHR 61| T8t Aad &1 T o1 |

HHadT T8l 8

Options:

1) IR B H UgaT

2) G| B el IR 3&f HRAT

3) 3T Ty Ry HreAT

4) TR & /- DI 3R &I 7 AT
Correct Answer: 3) 3T Ty fyg T

Candidate Answer: 3) 30Ul @ g B
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QID : 174 - A% U WIS U0 & | ST 4 ¢ fob a8 ¥ad forg SR gei &1 Ht S ¢ | 98 3o
GE-gT & Y GWRI & F&-g& $I 3R Hf &4 | 30 Wi Bl Blgdx g™l & fgd &1 ot Widl|
3T T g BT AadT Aal 81 R 8 Tl Hradl 8 | gt et 4 § 1 TS S(UF &
T & IR WRIGd BR THaT 1 I8 AT 9, o T 1 I F 3yal = I R DI WS B Tl
B TRl & U et Teryfa T Hft iRfed g1 fnht ot abe @ s, fondt &) At § ger,
foreft gt SR AR afad 1 Wi &1 ot WRfgd & &1 Sfcid offa 8 1 e X A B 3
JoET H ST ST aTal M BT TR fhar| s31 7ite 3 Al Bl I far, Jure S 3 RIF-
RIM R G, A 1S GaardR STl BT IUHR 61| Tg! Aad &1 I8 o1 g

T Y 1 82

Options:

1) Sifgan
2) WUHR
3) T3
4) &

Correct Answer: 2) RIUGR

Candidate Answer: 2) TRIUGR

QID : 175 - AT U QrHIfoies UToR g | I9aT o § fob a8 wad o ok geRl &t 4t o ¢ 1 98 3o
-39 & 1Y GWRI & YE-g4@ B1 3R ff & ¢ 1 30+ Wi Dl BISH: gU-! & fgd 1 i Fid|
3T T g BT Aadl Tg1 ¢ | IR 8 el Aadl § | Tl edl 4 § | TS S(U+ &Far a1
I & IR RILT HR bl g1 98 T ¥, 4 1 A1 a1 J YaT dFl J GIRI BT HATs B Gl
BRI & Uy Tt Tergufa et iRfga B 1 freht Y Yhe @ s, felt Y pumt @ ger,
forell gt 3R PR ufeky b it &1 +ft TRfgd & 81 Sl ofTa 81 HTaT X A BN-gfa &1
T H FTeT ST a1l &1 1 HER | 41 Tiig 2 @Rl &1 S T, J91e SiRile A RIMH-
RIF R HY, ATATS 1S GeardR STl BT IUHR 621 | T8t Aadr &1 Tgd o |

YT I A frge Ter fear

Options:
1) §&=1 BT
2) ieRur &1
3) adl &1
4) &R BT

Correct Answer: 4) &R BT

Candidate Answer: 4) RERIED]
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QID : 176 - U™ U [HTIoIe UToR | I9HT o ¢ fb a8 W foe oik gaRl &t o o9 1 98 3
JE-39 & 1Y g1 & GU-gW 1 R Hl &9 ¢ | 30 W1 &l BISdHR gkl o fed @1 Hff Tid|
3T T g BT AadT Tl 81 R € Tl AadT 8 | Tt et 4 § 1 TS 31U &
HE & AR WG R GHdl ¢ | 98 T I, U7 9 A7 G F 37dT i1 I GERi B HATs B qahel
B TR & U Tt Teryfa T ft iRfed g1 fnh ot abe & s, fondt &1 At § ger,
forelt gt ok FoRTT afad 1 Wi &1 +ft TRfgd & 81 Sicia offa 8 1 4TaT XM A B-gfa 31
TORIT H ST ST a1l A& HT HgR 51| S81 T¥itg A ANl BT IIH a1, TUTe 3=+ RIH-
RIF R G, A 1S GaardR STl BT IUHR 61| T8t Aad &1 I8 o1 g

@ &1 Wf-fe B

Options:

1) WT+Y
2) g+a3ref
3) T+3f
4) g+ard

Correct Answer: 3) w+3ref

Candidate Answer: 2) §+3{?f

QID : 177 - T U QrATfores uoft g1 39eT o § {3 a8 W e ofik gt &t ot o9 1 @ erom
FE-39 & 1Y GWRI & YE-g@ B1 3R ff & § 1 307 Wi Bl BISH gu”l & fgd &1 i Fid|
3T T g BT AadT Tgl § | R 8 el Aradi 8| Tt Tedt 4 § 1 TS S(Ui & a1
I & SUR RIGT IR GHhdl §1 98 T, & J A7 a7 F 37l =1 I gIRT Bt HATS HR Gahell
BRI & Ul Ted! IergHfa et )RZd B 1 frelt & Whe ¥ Sa, fpef ot pEm 9 g,
forell gt SR RTT Sufekd 1 i &1 +ft IRfgd & 81 Sicid offa 81 T XM A BN-gFal &1
T H F1eT ST dTcl X1&R1 1 UER | 91 7ilg 2 ARl &1 S T, J91e SiRile A RIMH-
RIM W FY, qTeTs 3M1fe FEardh Sl BT JUBHR 1| Jgt Tr-ddl &1 T o gl

AT Tee; § UY &
Options:

1) P
2)®

SED
4) 3T A B el
Correct Answer: 1) P

Candidate Answer: 1) I
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QID : 178 - U U IO UToR § | I9HT o ¢ fb a8 W fe oik gaRl &t ot o9 1 98 3
JE-39 & 1Y g1 & GU-gW 1 R Hl &9 ¢ | 30 W1 &l BISdHR gkl o fed @1 Hff Tid|
3T T g BT AadT Tl 81 R € Tl AadT 8 | Tt et 4 § 1 TS 31U &
HE & AR WG R GHdl ¢ | 98 T I, U7 9 A7 G F 37dT i1 I GERi B HATs B qahel
B TR & U Tt Teryfa T ft iRfed g1 fnh ot abe & s, fondt &1 At § ger,
forelt gt ok FoRTT afad 1 Wi &1 +ft TRfgd & 81 Sicia offa 8 1 4TaT XM A B-gfa 31
TORIT H ST ST a1l A& HT HgR 51| S81 T¥itg A ANl BT IIH a1, TUTe 3=+ RIH-
RIF R G, A 1S GaardR STl BT IUHR 61| T8t Aad &1 I8 o1 g

-3 DI TN 82
Options:

1) fe] 9o
2) g gAY
3) ST THN
4) FHYRY T

Correct Answer: 2) gg JHNY

Candidate Answer: 2) g4 9JHY

QID : 179 - TS U QrATfores uoft g1 3eT o § 3 a8 W e ofik gt &t ot o9 1 @ oo
FE-39 & 1Y GWRI & YE-g@ B1 3R ff & § 1 307 Wi Bl BISH gu”l & fgd &1 i Fid|
3T T g BT AadT Tgl § | R 8 el Aradi 8| Tt Tedt 4 § 1 TS S(Ui & a1
I & SUR RIGT IR GHhdl §1 98 T, & J A7 a7 F 37l =1 I gIRT Bt HATS HR Gahell
BRI & Ul Ted! IergHfa et )RZd B 1 frelt & Whe ¥ Sa, fpef ot pEm 9 g,
forell gt SR RTT Sufekd 1 i &1 +ft IRfgd & 81 Sicid offa 81 T XM A BN-gFal &1
T H F1eT ST dTcl X1&R1 1 UER | 91 7ilg 2 ARl &1 S T, J91e SiRile A RIMH-
RIM W FY, qTeTs 3M1fe FEardh Sl BT JUBHR 1| Jgt Tr-ddl &1 T o gl

TER' BT 31 B
Options:

1) 99R

2)

3) Yels

4) &

Correct Answer: 2) X[

Candidate Answer: 2) AIX[
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QID : 180 - HI™ Ueh [HIIoIe UTOR | I9HT o ¢ fb a8 W fu oiR gaRl &t o o9 31 98 3
E-39 & 1Y g1 & GU-gW 1 3R Ul &9 ¢ | 30 W1 &l Bl gkl o fed @1 ot Tid|
3T T g BT AadT Tl 81 R € Tl AadT 8| Tt et 4 § 1 TS 31U & A
HE & AR WG X Ghdl §| 98 T I, U 9 A7 G F 374dT i1 I GERi B HATs B gl
B TR & U Tt Teryfa T ft iRfed g1 fnh ot abe & s, fosdt &1 At § ger,
forelt gt ok AR afa 1 i &1 +ft TRfgd & &1 Sicid offa 8 1 e XM 2 B-gfa 31
TORT H ST ST aTal AT HT HR 5211 S81 T¥itg 2 ARl BT I a1, TUIe 3= 2 RIH-
RIM R G, A 1S GaardR STl BT IUHR 61| T8t Aadl &1 IgE o1 g

=1 TRitg' A foraepT I farar?
Options:

1) Tliq arall &l

2) BVl &1

3) WIsal B

4) T T

Correct Answer: 4) N BT

Candidate Answer: 4) T &1

QID : 181 - The value of the function f(x) = x>-6x+7 at x=2 is ?
o= BT T &7 82 F(x) = X2 - 6x + 7 Sd(dh x = 2
Options:

1)1

Correct Answer: 2) -1

Candidate Answer: 1) 1

QID : 182 - A goldsmith observes that one of his employe prepares a necklace in 9 hours, while
another employee prepares it in 10 hours. If they work together, they stud 10 gems less every
hour and thus prepare a necklace in 5 hours, then the number of gems studded in each necklace
is:

TP YR 3 31 foh IHT U HHARY Th ER 9 °e T TR HRal 8, STalfeh gORT HHARI 39 10 g A
TR a1 21 IS 3 TP 1Y HTH B &, Al 3 8 U 10 Id HH 9Sd & 3R 3 UPHR 5 6 H T 8R
TIR FR 8, A TP BR H ole gU Idl ! ULH 6:
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Options:

1) 1200
2) 1000
3) 800
4) 900

Candidate

DI |
Options:

1) 2 years
2 91

2) 3 years
39N

3) 3/4 year
3/4 W

4) 1/2 year
1/2 99

1/2 a9

Candidate
1/2 a9

TS 19 Bl

Options:

1)13: 4
2)17:4
3) 19:4
4) 4:19

Correct Answer: 4) 900

QID : 183 - A sum of Rs. 6400 amounts to Rs. 6724 at 10% p.a. compounded quarterly. Find the
time period.

6400 ¥ B! M, 10% U I, T fATET Thqis S &R W 6724 3T B AT 8 | THT 31afey I

Correct Answer: 4) 1/2 year

QID : 184 - A boat running upstream takes 7 hours and 40 minutes to cover a certain distance
while it takes 5 hours to cover the same distance downstream. What is the ratio between the
speed of the current and speed of the boat respectively?

M 8 T A T IY 5 °S T & | YRT 1 71 3R 19 &1 71 & ofi HH”: 7 3uTd 872

Correct Answer: 4) 4:19

7 GET IT ON
Google Play

Answer: 2) 1000

Answer: 4) 1/2 year

YRT & Ui d ge § T [d g8 0 = § 7 6¢ 40 fire @d € oafd YR & Srg@d
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Candidate Answer: 1) 13:4

QID : 185 - The price of JK magazine is ¥ 90. There is a 30 % discount on becoming a customer
of 45 magazines. While another discount of 25 % is also given to the customer of 26 magazines.
Find the difference of the price of a magazine for a customer of 45 magazines and a customer of
26 magazines.

% URAST B HIAd 290 B | 45 UEABIST BT AEH a1 W 30% $I e ¢ | T 26 UGS & TeH
B 25% Bt 3= ge & STl 81 45 URABTSH & TH UESH R 26 URABIST & TH URS & o U
URIHT BT BT BT R J1d BITY |

Options:
1)3.5
¥3.50
2)35.5

% 35.50
3)4.3
¥4.30

4)4.5
2 4.50

Correct Answer: 4) 4.5
24.50

Candidate Answer: 4) 4.5
2450

QID : 186 - What is the remainder left after dividing 1+2+3.....+100 by 777?

142+3+....+100 DI 77 I fIHIRIT B R IV g=a1 @

Options:

4) 21
Correct Answer: 2) 5

Candidate Answer: 2) 5



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

QID : 187 - Which of the following option is not an endothermic process?
fufafed & 9 o1 a1 fdwe tSiufde ufsrar 7€t 82
Options:

1) Temperature

dIqH =

2) Insoluble heavy impurities
SrgerTRiel HIRT srgfgat

3) Fusion

g
4) Vaporisation

Correct Answer: 1) Temperature
GIECIE

Candidate Answer: 3) Fusion
BNRE]

QID : 188 - The school bags are generally provided with the broad strips because:
TR ST TH AR W St Uit & iy Iueis HRIY S § aaifdp:

Options:

1) It will spread the force of the bag over the large area of the shoulder of the child producing large
pressure

T8 N & 90 B 9 S Y P T & W el &N oIS Fs7 &a1d Ual g

2) It will spread the force of the bag over the large area of the shoulder of the child producing less

pressure

T N & 90 B! = & $HY & d & TR Har o o HH <ard Uer g

3) It has become a trend among the students to carry the bags with wide strips

BHEI & o9 et ufedl are §71 S U aad §F T §

4) It will spread the force of the bag over the small area of the shoulder of the child producing less

pressure

I ST b el Dl g b DY b Bl Y &7 W el o7 oA A qard Uar g

Correct Answer: 2) It will spread the force of the bag over the large area of the shoulder of the
child producing less pressure

JE I & 90 B! 9 & $HY & I &7 TR Har < o H1 gard Uer g

Candidate Answer: 2) It will spread the force of the bag over the large area of the shoulder of
the child producing less pressure

g ST P 9 B! 9 & HY P I3 &F W ey I oY HH gard Uar g

QID : 189 - Who among the following is the author of the book ‘Conquest of Self’?

fafafed o @ & Sl 3 Ve’ TP b AWH 572
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Options:

1) Aurobindo Ghosh
SRfdal dy
2) Rabindranath Tagore

Y IR

3) Mahatma Gandhi
T e

4) S Radhakrishnan
T JUHM

Correct Answer: 3) Mahatma Gandhi
HETHT el

Candidate Answer: 4) S Radhakrishnan
T RMYTH WA

QID : 190 - Who was the author of the Hindi novel “Maila Anchal’?

St Su=a o Sifaa” & AEH DI A2
Options:

1) Ramdhari Singh Dinkar
MY {5 fgTa

2) Nagarjun

3) Bhikhari Thakur

) 3THR

4) Phanishwar Nath ‘Renu’
HURERATY R

Correct Answer: 4) Phanishwar Nath ‘Renu’

WUfiyRATY R

Candidate Answer: 4) Phanishwar Nath ‘Renu’

HUITARATY T

QID : 191 - Which country hosted the First Winter Olympic Games?

TYyH fdpTei SNcifte Wl Bt Aoa! g a2 3 Fi?

GET IT ON
Google Play
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Options:

1) Argentina
SIS

2) Germany

3) United Kingdom

gAges fdhien
4) France
Rl

Correct Answer: 4) France
ans|

Candidate Answer: 4) France
g

QID : 192 - Which day is celebrated as National Science Day?
P 1 &7 T fag fGaw & wu § w1 9l g2
Options:

1) 11th Jan
11 SR
2) 28th Feb
28 Hax!
3) 19th Mar
19 A

4) 10th Apr
10 30

Correct Answer: 2) 28th Feb
28 TR

Candidate Answer: 2) 28th Feb
28 TR

QID : 193 - Which Indian actor was conferred the 53rd Dada Saheb Phalke Award in 20237

o YR A &1 2023 T 539 GIGT ATEd Bledh YRIHR J T fobam mar?

GET IT ON
Google Play
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Options:

1) Kamal Haasan
HHT g

2) Mohan Laal

g o

3) Waheeda Rehman

CHERGEIE]

4) Manorama

TARHT

Correct Answer: 3) Waheeda Rehman

Jetal |HMA

Candidate Answer: 3) Waheeda Rehman

CHERGEIE]

QID : 194 - Name the largest District of Bihar in terms of Population
ST $1 2P W fIER &1 Jad 97 forell sarsy -
Options:

1) Patna
Yc-l

2) Gaya

ar

3) Purnia

4) West Champaran

qfgedt guRr

Correct Answer: 1) Patna
YeT

Candidate Answer: 1) Patna
gcr

QID : 195 - Problem-solving abilities can be facilitated by

THT-GATYM earsi & g YR gane foar S webdr g2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Options:

1) focusing on drill and practice.

AR S 3R BTG IR AR G |

2) encouraging fixed process of solving the problems.
RS & B o 3T Ulhal & S¥AUTd DI Jerdl b |
3) encouraging use of analogies.

TS o XA DI dgIdl b |

4) generating fear among students.

faenfifal § S &Y HraT Uer AR |

Correct Answer: 3) encouraging use of analogies.

IR} & SWATA B dgrdl Shr |

Candidate Answer: 1) focusing on drill and practice.

AR N 3R TG0 TR SR ShR |

QID : 196 - Individual differences in development of children can be attributed to

Tt & faprg o1 safaaira faftdarsi &) feg R ufaRiftg foar S I g2
Options:

1) heredity only.
Pad ARSI R
2) environment only.
Pad TR IR
3) neither heredity nor environment.
1 STIE R IR A1 9afeR0 IR
4) interplay of heredity and environment.

SHTARIGH T TaH TaTaRul & UR¥IRaAl IR

Correct Answer: 4) interplay of heredity and environment.

TR AT TaH Tafarul & TRl IR

Candidate Answer: 1) heredity only.

&I SATIARIBA R

QID : 197 - Ruhi believes that she did not study properly which is why she did not get good marks
in her science test though she can do science quite well. She is attributing her performance to

el BT A ¢ o I 3l A ugrs g1 o Ut e SRu 3T g oF udten & 3 TR T8t
3T STafes a8 fa & Sgd SresT UGRH o Gavd! ¢ | Fa! 3 UeRH &1 3RIU {658 HRS &I
®IE 2
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Options:

1) Environmental factors

JHRUNT HRB
2) Lack of ability
Il &1 HH
3) Lack of effort
DI Bt HHT
4) Tough luck
HiST UG

Correct Answer: 3) Lack of effort

DRI B HH!

Candidate Answer: 3) Lack of effort

DRI B HH!

QID : 198 - Which of the following is an effective method to enhance problem-solving skills in
children?

T H -G 1A B 9gH b forg Fefarad § ¥ 1F-91 uqTdt aier 872
Options:

1) Giving them opportunities to brainstorm and make intuitive guesses
I8 §fS HUT TR 3R gl STHM T & AT ol

2) Providing them with ready-made solutions to problems

I AT BT IR FATYH JUAH BT

3) Discouraging independent thinking and focusing on declarative knowledge
Wi feid= B! galced BT 3R GO I WR S Digd HRAT

4) Encouraging them to avoid difficult problems

Hie grEmnsl § g9 & forg 3= Uienfed w1

Correct Answer: 1) Giving them opportunities to brainstorm and make intuitive guesses

I Gl HYT B IR TG STHM TR & AR ST

Candidate Answer: 1) Giving them opportunities to brainstorm and make intuitive guesses

I8 §fS HYF TR 3R gl STHM T & AR ol

QID : 199 - Which one of the following questions invites children to think critically?

fREfafad 3 9 SH-91 vz s &) 4R =0 Q TR & T mHfad a1 82
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Options:

1) Do you know the answer to this?

HT Y THBT IR S 572

2) What is the right answer?

TG AT 182

3) Can you think of a similar situation?

T 31U 3 e 1 UM & IR T Aig Iavd 82

4) What are the different ways in which we can solve this?

faft=T Iipt T 57 38 HY 8 B Thd 82

Correct Answer: 4) What are the different ways in which we can solve this?

A= ! ¥ 89 3q P §A B Tbd o7

Candidate Answer: 4) What are the different ways in which we can solve this?

faft= dip! ¥ 89 38 Y 8 B Thd 87

QID : 200 - Which one of the following is the most suitable to improve children's learning?
f=fafed & Q oH-a1 st & 1 7 guR &1 & o ga ¢1fie Iuged 82
Options:

1) Regular assessment test should be conducted.

afia geaic aRi&m ST &1 o aTfeu|

2) Teacher should explain the content using different examples and illustrations.
Rres 1 fafi=T ISTERON SR ol &1 IUGRT b AW &1 AR F1 AT

3) All types of learning material should be there in the class.

DT H Gl DR 1 FRegu-aredt gt =1iee

4) Teacher should facilitate children to interact with each other on real-life situations.

fR1gieh ! IRdfae Sita FRUTTAT TR ddll B Uh-gaR b H1Y Jddld B H Hag HRA! iU

Correct Answer: 4) Teacher should facilitate children to interact with each other on real-life
situations.

fR1e/ ! IRafd® shia R IR I<dl B Th-gaR & 1Y ddald DR 8 Hag d- algd|

Candidate Answer: 2) Teacher should explain the content using different examples and
illustrations.

fRrerep 1 fAft=T ITexun SR sl &1 ITANT B fawg &) AT BT A1

QID : 201 - Which event marked the end of the Reign of Terror?

o U1 A 3fTcieh b T b 3 g2
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Options:

1) Storming of the Bastille
Sfeed BT
2) Execution of Louis XVI

& XVI &1 e
3) Execution of Robespierre

JsfAye? o1 fAwareq

4) Tennis Court Oath
R BIE Uy

Correct Answer: 3) Execution of Robespierre

JefAye? o1 fAware

Candidate Answer: 2) Execution of Louis XVI

TE XVI BT e

QID : 202 - Which of the following personalities quoted, “Democracy is of the people, for the
people, by the people™?

frofeRad & 3 foerg safdda 3 w1, "dibda Al &1, @Rl & forg, al gRT 82
Options:

1) Mahatma Gandhi
HETeH it

2) Albert Einstein

3fTC S

3) Abraham Lincoln
3sTeY foieh

4) Rabindranath Tagore

TS TR

Correct Answer: 3) Abraham Lincoln

3151 feie

Candidate Answer: 3) Abraham Lincoln

3sTeY foieh

QID : 203 - The Constitution of India provides for a form of government.

GET IT ON
Google Play
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Options:

1) Presidential

yufd

2) Parliamentary

3) Unitary
UDhTHD
4) Federal
Idg

Correct Answer: 2) Parliamentary

dgdr

Candidate Answer: 2) Parliamentary

ESRSEAL]

QID : 204 - Who has special power in administering the Union Territories in India?
YR B g Rrd ue= & y=mg o faviy wifda fraes o g2
Options:

1) Central Government
Hg WHR
2) Chief Minister

A

3) President

NI

4) Governor
TgUTe]

Correct Answer: 1) Central Government
&G WHR

Candidate Answer: 3) President

yufd

QID : 205 - Literacy rate is a measure of:

IeRdT &R T AT §:

GET IT ON
Google Play
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Options:

1) Physical capital
Hifae gait

2) Human capital
Hd Yoit

3) Financial capital
foreita gt

4) Natural capital

T fce Yoit

Correct Answer: 2) Human capital

REERCl

Candidate Answer: 2) Human capital

T i

QID : 206 - Which of the following states have a child sex ratio of less than 8007
fafafea & 9 fora =g & a1 feFuTd 800 & %4 82
Options:

1) Kerala
A

2) Maharashtra

HeRE

3) Karnataka

Fled

4) None of these

T PIE el

Correct Answer: 4) None of these

TR P Tl

Candidate Answer: 1) Kerala

|

QID : 207 - Who said, "Political freedom is the breath of the nation"?

e Fg1 U1 fob oI TadadT AP ST U1 ag o

GET IT ON
Google Play
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Options:

1) Bal Gangadhar Tilak
CISKINIPTEGKED

2) Bipin Chandra Pal
fafom <ig uret

3) Arvind Ghosh
3Rfd 9y

4) Rabindranath Tagore

fa=eTy TR

Correct Answer: 3) Arvind Ghosh

3Rfd=< Uy

Candidate Answer: 1) Bal Gangadhar Tilak
CINRINIGGRED

QID : 208 - Under whose leadership did the Congress send a mission to investigate the
Jallianwala Bagh massacre?

SferdtaTe ST §ATHh IS & TAayUl & forT B A foreids g & R Oer u1?
Options:

1) Under the leadership of Malviya ji
A St & Aga o

2) under the leadership of Mahatma Gandhi
HeTe i & 4@ |

3) under the leadership of Lala Lajapat Rai

AT ATSIId I & Aqed J

4) under the leadership of Hansraj Rahbar

GRS @R D Aqd |

Correct Answer: 1) Under the leadership of Malviya ji

AT St & g o

Candidate Answer: 3) under the leadership of Lala Lajapat Rai
ATl ATSIId I & Aqed §

QID : 209 - What was the name Udham Singh told the police in jail?

Sy Rig 3 Sid § gferd DI 3T A8 o1 S U1?

GET IT ON
Google Play
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Options:

1) Mohammad

HIgHE

2) Ram Singh

RN

3) Azad

SIS

4) Mohammed Singh Azad

Higre Rig smeie

Correct Answer: 4) Mohammed Singh Azad

Higwe Rig g

Candidate Answer: 3) Azad
SIS

QID : 210 - When did the Simon Commission come to India?

T3 HHIRME YR Hd HT?
Options:

1) In 1922
1922 H
2)in 1927
1927 H
3)in 1928
1928
4)in 1930
1930 H

Correct Answer: 2) in 1927
1927 §

Candidate Answer: 3) in 1928
1928 |

QID : 211 - Which revolutionary was hanged very close to the Gandhi-Irwin Pact?

Tie-3Rf FHENd & HIS B b pifcp R B ®iwh df 718 2

GET IT ON
Google Play
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Options:

1) Bhagat Singh
i g

2) Sukhdev

3) Rajguru

4) all of these

Tt

Correct Answer: 4) all of these

pakhi|

Candidate Answer: 4) all of these

pakhi|

QID : 212 - When was the first census held in British India?
fafesr YRd & ggelt SFHIUMAT  §8?
Options:

1) In 1871
1871 H
2)in 1872
1872 H
3)in 1873
1873 H
4)in 1874
1874 H

Correct Answer: 2) in 1872
1872 H

Candidate Answer: 3) in 1873
1873 1

QID : 213 - In 1941, Subhash Chandra Bose managed to escape from British captivity by catching
a train from which station?

1941 T UV T S b WA F 2 TSR 3Gl B g F U H BT gu?
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Options:

1) from Gomoh
e

2) from Bokaro

ClEZNE

3) from Jamshedpur

4) from Ranchi

NEIE]

Correct Answer: 1) from Gomoh

RIS

Candidate Answer: 1) from Gomoh

RIS

QID : 214 - When was the Indian Independence Act passed by the British Parliament?
HRdT Tadar sifafam fafew Jae grT e uiid gai?
Options:

1) On 18 July 1947

18 T[S 1947 &1

2) on 15 August 1947
15 3T 1947 BI

3) on 26 January 1950
26 SFTaRT 1950 I

4) 9 December 1946

9 fadsR 1946 &I

Correct Answer: 1) On 18 July 1947

18 T[S 1947 &1

Candidate Answer: 4) 9 December 1946

9 fadsR 1946 &I

QID : 215 - Where is Bihar located?

fgR wal fua 82

GET IT ON
Google Play
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Options:

1) North India
3R HRd

2) South India
e HRd

3) South West
Sféror ufgm

4) South East

aféror gd

Correct Answer: 1) North India
IR HRd

Candidate Answer: 1) North India
3R HRd

QID : 216 - Which one of the given below, Van Mahotsav is associated?
3 el Fafafed o 9 fea Tefia 32

Options:

1) Cutting of trees

Ugl Pt Berg

2) Harvesting festival

T Hels B AR

3) Increase in crop production
e G | Ifg

4) Tree Plantation

&R0

Correct Answer: 4) Tree Plantation

JERIYUT

Candidate Answer: 4) Tree Plantation

CLIREL

QID : 217 - Which district of Bihar is most forested?

fYeR &1 1 w1 foren Haifies arsifed 872

GET IT ON
Google Play
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Options:

1) jamui

S

2) Banka
ST

3) Kaimur

IR

4) Hajipur

Correct Answer: 3) Kaimur

IR

Candidate Answer: 1) jamui

S

QID : 218 - Underground tanks seen in Rajasthan to store rainwater for drinking is called:
IR B 0 & fore auf STat o) It B & o S8 o1 arel YT St & &l I &
Options:

1) Tankas
EIEE
2) Khadin
TgH

3) Ponds
GINIE]

4) Kuls

BIERICTS)

Correct Answer: 1) Tankas
S/

Candidate Answer: 2) Khadin
g

QID : 219 - The first multi-purpose project of India was

URA ! Ugdll g3 T uRarer ot

GET IT ON
Google Play
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Options:

1) Sivasamudram

[REREED]

2) Damodar Valley
SR 91et
3) Hirakud

TIPS

4) Rajasthan Canal
RMOIRYT TR

Correct Answer: 2) Damodar Valley

AR HTel

Candidate Answer: 1) Sivasamudram

[REREED]

QID : 220 - Which of the following was a large Agro-industrial town in Undivided Bihar?
fquTiora faer & Fofafed & 19 1t Ta1 H-shanfie weR ur?
Options:

1) Kaimur

R

2) Dalmianagar

3) Bhagalpur

HITAYR
4) Kishanganj
=S

Correct Answer: 2) Dalmianagar

STAFITR

Candidate Answer: 2) Dalmianagar

STAFATR

QID : 221 - The edges in a three-dimensional (3D) shape sphere are-

ffdwia (3D) 3P T M (Sphere) # &R (Edges) 81 &-

GET IT ON
Google Play
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Options:

1)0
0

Correct Answer: 1) 0
0

Candidate Answer: 4) 3
3

QID : 222 - The supplementary angle of 1000 angle is-
1000 0T BT YRS HI0T &-
Options:

1) 100
100
2) 180
180
3) 90
90

4) 80
80

Correct Answer: 4) 80
80

Candidate Answer: 1) 100
100
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Options:

1) cuboid
LRI

2) Circle
el

3) Cone

[P

4) volume
S d—

Correct Answer: 1) cuboid
CEIE

Candidate Answer: 1) cuboid
LRI

QID : 224 - The solid with one circular face, one cured surface and one vertex is known as
TP MAGR Idg, U HTGER Idg 3R T MY aral 31 &1 Bl ST §
Options:

1) cone

[P

2) sphere
e

3) cylinder
e

4) prism

IBSER

Correct Answer: 1) cone

AP

Candidate Answer: 1) cone

AP

QID : 225 - A cube is a prism with square faces

T o TSR Wereh! aren Uah fired &

GET IT ON
Google Play
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Options:

1)6

6

2)8

8

3)4

4

4) None of these

T A IS T

Correct Answer: 1) 6
6

Candidate Answer: 1) 6
6

QID : 226 - 400009 x 9 is equal to-
400009 x 9 SRR -
Options:

1) 36000027
36000027
2) 3600081
3600081

3) 36000207
36000207
4) 36008
36008

Correct Answer: 2) 3600081
3600081

Candidate Answer: 2) 3600081
3600081

QID : 227 - |- 22| + |- 56| + |- 42| = ?

|- 22| + |- 56| + |- 42| = ?
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Options:

1) 130
130
2) 120
120
3) 140
140
4) 150
150

Correct Answer: 2) 120
120

Candidate Answer: 2) 120
120

QID : 228 - The value of Y2 + Y4 is equal to:
Y + Y 1 T SRR o:
Options:

1) 3/4
%

2) 312
3/2
3)2/3
%

4) 1

)

Correct Answer: 1) 3/4
Ya

Candidate Answer: 3) 2/3
vz

QID : 229 - The sumof 2a+ b + 5cand -5a - 2b + 3c is

2a+b+5c 3R -5a-2b+3cHIANE
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Options:

1)-3a-b-8c
-3a-b-8c
2)3a+b+8c
3a+b+8c
3)-3a-b+8c
-3a-b+8c
4)3a+b-8c
3a+b-8c

Correct Answer: 3) -3a-b+8c
-3a-b+8c

Candidate Answer: 4) 3a+b-8c
3a+b-8c

QID : 230 - 8.7 —43/10
8.7-43/10
Options:

1)4.5
4.5
2)4.4
4.4

3) 6.7
6.7
4)6.2
6.2

Correct Answer: 2) 4.4
4.4

Candidate Answer: 2) 4.4
4.4

QID : 231 - (-5)— (54) = ?

(-5)-(54) =7
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Options:

1) - 59
-59

2) 59
59

3) 57
57

4) 56
56

Correct Answer: 1) —59
-59

Candidate Answer: 1) —59
-59

QID : 232 -_18 =2 gives
_18+223aTg
Options:

1) 36
36
2)9
9
3)-9
-9

4) 16
_16

Correct Answer: 3) -9
-9

Candidate Answer: 3) -9
-9

QID : 233 - Calculate the sum of lengths: 21 m 13 cm, 33 m 55 cm and 45 m 6 cm.

|STS & TN BT TMUFT BY: 21 HeX 13 THT, 33 Hiex 55 JHt 3R 45 Hiex 6 A

GET IT ON
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Options:

1) 99m 74 cm
99 Hex 74 Tt
2) 98 m74cm
98 e 74 Tt
3) 99m75cm
99 Hiex 75 J#t
4) 98m75cm
98 Hex 75 Tt

Correct Answer: 1) 99m 74 cm

99 Hiex 74 T

Candidate Answer: 1) 99m 74 cm

99 Hiex 74 T

QID : 234 - Meena has bought six pens. The cost of each pen was between Rs.25 and Rs. 30.
Which of these could be the total cost of the pens?

Jﬂﬂﬁ;@'ﬁq@ﬂ%% TA% U9 &1 B 25 J 30 ¥9A & o 2| 570 ¥ U9 &) Hd $H1Ad fara-1 &)
Hobell 872

Options:

1) Between Rs. 150 and Rs. 180.
¥. 150 3R ¥.180% &4

2) Between Rs. 140 and Rs. 180.
140 3R . 180% &9

3) Rs.126

126 %

4) Rs.630

630

Correct Answer: 1) Between Rs. 150 and Rs. 180.
¥. 150 3R ¥.180% &4

Candidate Answer: 1) Between Rs. 150 and Rs. 180.
¥. 150 3R %.180% o

QID : 235 - The weight of a chocolate carton is 20 kg. Each carton has 10 packets. Each packet
has 25 chocolates. How many chocolates are there? Find the weight of each chocolate presuming
that weight of carton and packets is negligible.

TP didae HIe- b1 g 20 fhal g1 UdS HIed | 10 Udbe | U Udbe H 25 Albalc & | 98l
fat Sidae 82 U didde &I go I8 HIFd U 1 & fh ST 3R e &1 goH T |
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Options:

1) 250, 80 g
250, 80 UTH
2) 255,80 g
255, 80 UTH
3) 250, 88 g
250, 88 UTH
4) 210,80 g
210, 80 UH

Correct Answer: 1) 250, 80 g
250, 80 9™

Candidate Answer: 4) 210,80 g
210, 80 UTH

QID : 236 - What is the value of 6000 grams into kilograms?

6000 UTH T frarums & 7719 &1 82
Options:

1) 6 kg
6 fopur

2) 60 kg
60 fobar

3) 600 kg
600 fam
4) 6000 kg
6000 foam

Correct Answer: 1) 6 kg
6 fopur

Candidate Answer: 1) 6 kg
6 fopur

QID : 237 - Jack can finish a work in 10 days and Tom can do the same work in half the time
taken by Jack. Then, working together, what part of the same work they can finish in a day?

S Ueh BTH BT 10 fal & TR R Tl § MR 1A I BT HY Sicb gRT forg T8 w90 & 318 gy o
R IR GHhdl 8| TR, TP 1Y HTH Hd T, d I HTH FT fhd-1 YT T o H I HR Ihd 672
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Options:

1) 3/10
3/10
2)1/9
1/9
3)2/5
2/5
4)2/7
217

Correct Answer: 1) 3/10
3/10

Candidate Answer: 1) 3/10
3/10

QID : 238 - A and B are working on an assignment. A takes 6 hours to type 32 pages on a
computer while B takes 5 hours to type 40 pages. How much time will they take, working together
on two different computers, to type an assignment of 110 pages?

A 3R B U& SHRTHC TR HTH FR IE o | A DI HER W 32 ol 8T HA H 6 G A & oididh B B
40 UG €130 X H 5 ¢ 1A &1 Gl S-Sl HERI IR Teh WY HTH B g, 110 Y8 BT Th
SYTSHC TRY A | I3 fba-1 g0y T

Options:

1) 7 hrs 30 min

7 °¢ 30 e
2) 8 hrs

g de

3) 8 hrs and 15 min
8 °e 3R 15 firfe
4) 8 hrs 25 min

8 d¢ 25 e

Correct Answer: 3) 8 hrs and 15 min

8 e 3R 15 fiFe

Candidate Answer: 2) 8 hrs
g°e

QID : 239 - The length of the longest pole that can be placed on the floor of a room is 10m and the
length of the longest pole that can be placed in a room is 10v2 m. What is the height of the room?

TP R b B TR AT o b Tl o e T Bl AdTS 10 Hie g 3R T HH H AT o b
T JT 9 TH P I8 10v2 Hie g1 HHR BT HaTs [l 82



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Options:

1)10.5m
10.5 |t
2)10.2m
10.2 |
3)10m
10 #t
4)20 m
20 @t

Correct Answer: 3) 10m

10 |

Candidate Answer: 1) 10.5m
10.5 |t

QID : 240 - What is the ratio of the Total Surface Area to the Lateral Surface Area of a cylinder
with a base radius of 80 cm and height of 20 cm?

80 It SR Froar 3R 20 Tt Frars aTel Ricier & Hot wde & SR urf Idg &= HT uTd F1 82
Options:

1)2:3
0.0854166666666667
2)4:1
0.167361111111111
3)5: 1
0.209027777777778
4)3:1
0.125694444444444

Correct Answer: 3) 5:1
0.209027777777778

Candidate Answer: 3) 5:1
0.209027777777778

QID : 241 - If we combine two consecutive triangular numbers, we get?

T2 &9 <1 HHNTT AYSTHR Teearaft & fiyer ¢ oY g U gidr 82
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Options:

1) Rational Number
LERUGEEtes)

2) Whole Number
quf @

3) Perfect Square
qui aif

4) Prime Number
SHTSY e

Correct Answer: 3) Perfect Square

gof o

Candidate Answer: 4) Prime Number

STHT T-AT

QID : 242 - There are non-squares numbers in between 52 & 62

523]R62 & o R-af et gl
Options:

1) 10
10
2) 11
11
3) 12
12
4)9
9

Correct Answer: 1) 10
10

Candidate Answer: 1) 10
10

QID : 243 - If Akshat has twelve two rupees coins and two five rupees coins. What is the total
amount with him?

e 31efd S UMY &) FUY &b IRE Rideh 3R U F9A & <) g 81 39S U ot A fobail 872
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Options:

1) 43 rupees
43 300
2) 34 rupees
34 30
3) 23 rupees
23 300

4) 32 rupees
3230

Correct Answer: 2) 34 rupees

34 3UY

Candidate Answer: 2) 34 rupees

34 3UY

QID : 244 - A person got a 10% increase in his salary. If his salary was Rs. 50000, then the new
salary is:

TS fad & 3d9 | 10% P1 3G g3 | afe IYHT I 50000 3. €, & 74T I &
Options:

1) Rs. 55000
¥. 55000
2) Rs. 60000
¥. 60000
3) Rs. 45000
F. 45000
4) Rs. 65000
F. 65000

Correct Answer: 1) Rs. 55000
2. 55000

Candidate Answer: 1) Rs. 55000
2. 55000

QID : 245 - Mathematics is a way of thinking since: (a) It provides an opportunity for students to
engage in proofs and examining patterns. (b) Students reproduce formulae and symbols during
problem solving. (c) Students use appropriate strategies for solving various new problems.
Choose the correct option:

T U Tiem &1 asihT § Fif: (a) T faanfial & wneat e ufammt & e & oo (@)
T & foT AR Ue aRal B | (b) THWT JHIYTH & SR et 3 vd gl & Sev1a 81 (c)
Tl faft= =15 Tonsii &1 U™ HA & e Iuged gfaadl &1 SUaiT axd &1 | el [ddbed &1
WW:
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Options:

1) (b) and (c)
(b) 3R (c)

2) (a) and (c)
(a) 3R (c)

3) Only (b)
&ad (b)

4) (a) and (b)
()3 (b)

Correct Answer: 2) (a)and (c)

(a) 3R (c)

Candidate Answer: 2) (a) and (c)

() 3R (c)

QID : 246 - A class VI mathematics teacher posed the following problem to her students: "In a
morning walk, three persons started together. Their steps measure 70 cm , 85 cm and 95 cm
respectively. What is the minimum distance each should walk so that all can cover the same
distance in complete steps?" Which of the following concepts would be required to solve the given
problem?

P& VI B T T 1 Rt 3 3= fyenfiay & gwer Fafafed uea w@r » uid: s WA 3
fed Th Y I URYH B g | 37 HaHl Bl ddls A 70 T4, 85 A 3R 95 A M g1 370
Y A% A fobeft g8 7 b 9 9 g8 R P! & 7 FR b FAfeiiad F -
SMIYRUMY T 7T U &) 8 B & o ATIRID i 2

Options:

1) Concept of LCM

gdH B LI SR (A0%0) P AR
2) Concept of division

fqHTS 1 SrayrRon

3) Concept of proportion

HHFUT 1 YR

4) Concept of HCF

T YHYGA® (HOHO) Pt SR

Correct Answer: 1) Concept of LCM
TYIH FHYGAD (F0O0) B SR

Candidate Answer: 1) Concept of LCM
gdH BSLIERED (SI0H0) BT STYRT
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QID : 247 - When a shopkeeper sells item A for % 384, then there is a loss of 20% and when he
sells item B for % 400, then there is a profit of 25% . What is the profit/loss percent, if he sells both
items for a total of ¥ 852 ?

e U GHHGR IX A DI 2 384 TR ITA1 5 , 1 3 20% BT BT il & 3R 919 98 a% B B! 2 400
R ITAI g , A I 25% HT AT U il ¢ | A a8 g1 axgsf & Hof A 2 852 R,
JTPT A1/ BT UlI=Ta o1 SR 2

Options:

1) Profit, 6.5%
Y, 6.5%

2) Loss, 5%
B, 5%

3) Loss, 7%
B, 7%

4) Profit, 7.5%
Y, 7.5%

Correct Answer: 1) Profit, 6.5%
Y, 6.5%

Candidate Answer: 4) Profit, 7.5%
Y, 7.5%

QID : 248 - In AABC and ADEF , if AB = EF , BC = DE and CA = FD, then

AABC 3R ADEF , ¥ 9f¢ AB=EF ,BC=DEdUTCA=FD g, al
Options:

1) AABC = ADEF
AABC = ADEF
2) AABC = AFED
AABC = AFED
3) AABC = AEFD
AABC = AEFD
4) AABC = ADFE
AABC = ADFE

Correct Answer: 2) AABC = AFED
AABC = AFED

Candidate Answer: 1) AABC = ADEF
AABC = ADEF

QID : 249 - Which of the following statements is true?

R sy d AP ATIAR 2
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Options:

1) Mathematics consists of all the theorems proved in mathematics books.

TIore Bt GRde B <1 7S et uia &) Suufa A € 1o sar B

2) A person good in arithmetical computation is also good in Mathematics and vice-versa.

TS Afad St o BT uRea & st § a8 Tiord & oft 3res1 g SiR fadma: off a5 9 gl
3) Intuition has no role in generating mathematical knowledge.

T I & IadTe H ST &1 B8 HYfPesT T8 3

4) Mathematical statements can be conditional.

T U ufasfid 8 Ihd B

Correct Answer: 4) Mathematical statements can be conditional.

T By ufasfid 8 ged g

Candidate Answer: 2) A person good in arithmetical computation is also good in Mathematics
and vice-versa.

T fed i fob SOt uReper H 3rea1 § a8 Tford H ot a1 81 SR faama: +f a8 I g

QID : 250 - If two quantities x and y vary inversely with each other, then which one of the following
is true?

g &1 IRMT x 3R y TH-gWR & FehH ¥U | Ued-a¢d g, df FEaRad § 9 -9 9 § ?

Options:

1) Ratio of their corresponding values remains constant.

I Gaifdrd A BT 3UTd THIHH 1 8l 5|

2) Product of their corresponding values remains constant.
I eI AT BT UM THIAM &1 8l ¢ |

3) Summation of their corresponding values remains constant.

3% Geifird AT BT TNT THIH o1 I8dT o

4) Difference of their corresponding values remains constant.

I Y& AT BT 3R Th A 1 38T B

Correct Answer: 2) Product of their corresponding values remains constant.

31 eI AT BT UM THAM 1 8T |

Candidate Answer: 1) Ratio of their corresponding values remains constant.

% Gafdrd A BT 3UTd THHH 1 8l 3|

QID : 251 - Which one of the following statements regarding family is incorrect?

URaR & Joy | FfRad # 9 &9 I1 Y= Ted 872
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Options:

1) Family is the basic unit of society
TRAR THS BT Tl SHTS 3

2) Family is the first place where child begins to learn and receive early education
URaR 98 Ugdl ™I g S8 S YRIAT YR Rl § MR URMANS e ured a8

3) Family is mini society for child and here child learn about socialisation by observation
URaR 5= & 1T 7Y GHTS § 3R J81 a1 Saaid- gRT JHTSIHRUI & IR H YRadl §

4) Family may be bound by force and it may exist without love and respect

URAR 9 A §4T 81 bl & 3R I8 WR 3R JHH P foT 31f&id § 7§ gbar g

Correct Answer: 4) Family may be bound by force and it may exist without love and respect

URAR 9 J §4T 81 bl & 3R I8 WR 3R THH P o1 31f&id # 37§ IhaT g

Candidate Answer: 2) Family is the first place where child begins to learn and receive early
education

URaR 98 Ugdl ™IF § S8 Sl YRAT YR &l § 3R TR e ured &vam 8

QID : 252 - In the game of lawn tennis, the teammates in the mixed doubles format are
@M o & Wa o ffda gra ureu B A & It §1d €
Options:

1) Both males,

Tl g,

2) Both females.
CRIRSIENI

3) 1 male and 1 female
1 99Y &R 1 Tfga,

4) None of these.

T A BIE T,

Correct Answer: 3) 1 male and 1 female

1 799 3R 1 Afga,

Candidate Answer: 3) 1 male and 1 female

1 799 3R 1 Afga,

QID : 253 - We keep small fish in small water tanks known as

T B Hahordl & B UMl & ¢l 7 3ad § o HEI S
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Options:

1) aquariums

THNgH

2) kennel
Pl
3) both
gl

4) none of these

T A B T

Correct Answer: 1) aquariums

THaH

Candidate Answer: 1) aquariums

THNgH

QID : 254 - Which of the following do not belong to the mammal family?
froafifed & 9 M Wurd aRaR & 6 T8 82
Options:

1) Dog

2) Whales

By

3) Bats
JHIMGS
4) Frog
Hesh

Correct Answer: 4) Frog

Hedh

Candidate Answer: 4) Frog

Hedh

QID : 255 - Dogs mark their areas by

B 30 &1 Bl ffgd Bl §
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Options:

1) urinating
PRICEZC
2) barking

3) urinating and barking
URMS =T 3R HiHT
4) None

I el

Correct Answer: 3) urinating and barking

TR BT 3R HipAT

Candidate Answer: 2) barking

Ui

QID : 256 - Chess: Indoors:: : Outdoors
AR W P 3 - TR
Options:

1) Video games
ClISRIRIE}

2) Cards

BT

3) Soccer
RIERNCICIND!
4) Carom

G|

Correct Answer: 3) Soccer

o (e

Candidate Answer: 3) Soccer

e (e

QID : 257 - is done when a force moves an object through some distance.

R Ve B 9d [l o B 59 gl d o S B
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Options:

1) work
hIH

2) all of these
g g

3) energy

4) force
dlehd

Correct Answer: 1) work
PH

Candidate Answer: 1) work
HH

QID : 258 - Which nutrients give us energy to do work?
B A Qe dcd &8 BT B P o Foff 3d 82
Options:

1) Fats and carbohydrates.

a1 3R BrEREST

2) Vitamin and minerals.
faeTfie ofR @f e

3) Protein.

PIGiE|

4) All of these

[t

Correct Answer: 1) Fats and carbohydrates.

91 3R BregRge

Candidate Answer: 1) Fats and carbohydrates.

a1 3R BrEREST

QID : 259 - Plague is

U]
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Options:

1) viral disease
IR SR
2) fungal disease
ISl SR
3) bacterial disease

BIEINEIEIN]

4) mineral disease

TS SR

Correct Answer: 3) bacterial disease

oftary] sARY

Candidate Answer: 3) bacterial disease

BIEINEIEIN]

QID : 260 - In which one of the following groups are the words intimately related?
frafafad & @ forg a9 & wee gy 0 I Faifia §2

Options:

1) mosquito, malaria, anaemia, iron
2) iron, malaria, anaemia, blood
3) iron, haemoglobin, anaemia, amla

4) mosquito, dengue, iron, jaggery

Correct Answer: 1) mosquito, malaria, anaemia, iron

Candidate Answer: 1) mosquito, malaria, anaemia, iron

QID : 261 - A doctor prescribed some medicines to a patient and also suggested him to eat
jaggery, amla and more green leafy vegetables. This patient must be suffering from

TP STeR 3 U TS ) 6 arzdl af 3R 39 TS, 3fiaal iR 3w 8 trieR afesral @H &t
Tareg t & 39 a8 & TR 8 @ v
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Options:

1) fever

JUrR
2) typhoid
IIERSSN
3) malaria
IR

4) anaemia

G Bl Hl

Correct Answer: 4) anaemia

G DI Bl

Candidate Answer: 4) anaemia

G DI Bl

QID : 262 - Plants manufacture their food with the help of

QY ST HioH forge! TgradT § §1d 872
Options:

1) Oxygen, sunlight, water
ST RIToH, IR DI A=, T
2) CO?, Oxygen, sunlight
CO?, RIS, TSl B A-FL
3) Water, sunlight, CO?

U, GRSl D1 ARAT, CO2

4) Oxygen, sunlight
SRS, I DI IR

Correct Answer: 3) Water, sunlight, CO?
U, IR BI IR, CO2

Candidate Answer: 3) Water, sunlight, CO?
T, IR BT IR, CO2

QID : 263 - It is not way to improve crop

g e b SgaR I BT dliel el §

GET IT ON
Google Play
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Options:

1) by incorporation of gene
S % FHIART GRT

2) inter varietal

3R

3) inter specific

3R fafry

4) interchangeable fertilisers

fafay Iave

Correct Answer: 4) interchangeable fertilisers

fafag Idve

Candidate Answer: 3) inter specific

3R fafry

Options:

1) Fertilisers
IRP

2) Compost

REI

3) Green manure

RRUECI
4) both

CiEl

Correct Answer: 3) Green manure

RRREIH

Candidate Answer: 2) Compost
dlq

QID:265-...........ceenennen. occurs because of scarcity or irregular distribution of rains

........................ i &Y BT T AT fIdRor & HRUIEIAT ®

GET IT ON
Google Play
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Options:

1) Cyclone
Ihdld
2) Earthquake

Hed
3) Droughts

el

4) Tsunami

AT

Correct Answer: 3) Droughts

el

Candidate Answer: 3) Droughts

QID : 266 - Which of the following is the main purpose of carbohydrates in the body?
fafafad & @ oF 91 IRR & FeeRse & I 34 82

Options:

1) They provide chemicals repairing cells, and aid in digestion.

J PIRIBIST BT AT B al T UaH R §, AR U H FgIal B3 g

2) They help regulate hormones and maintain body temperature within the body

3 g B! A H7 3R IR F iR TRR & q0HH B S 78 § 7GE R & |
3) They are the main source of energy for everybody.

3 g+t & fore St 1 T Aid & |

4) None of these

T A B T

Correct Answer: 3) They are the main source of energy for everybody.

ot & o St ol ey | ] 1

Candidate Answer: 3) They are the main source of energy for everybody.

3 T+t & fore St &1 T Wid & |

QID : 267 - Who is the first Indian woman to climb Mount Everest?

AT TR R Ig dIc) Ugdll HRd1g Afgdr & 82
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Options:

1) Brigadier Gauri Singh.

fsrifeTR TRt g

2) Dhyani Phogat.

fonfem M Rig

3) Bachendri Pal

EEFRIS

4) None.

PIg T,

Correct Answer: 3) Bachendri Pal
CEFIRIS]

Candidate Answer: 3) Bachendri Pal

EEFRIN]

QID : 268 - The National highways system is the responsibility of
RIS TSR FaRT fpaes! foaR 82
Options:

1) State Governments

T TIHR

2) Central Government

H% WHR

3) A special Roads Authority

TS IRV TS& WIAHT

4) State and Central Government
T 3R F% WPR

Correct Answer: 2) Central Government
DG WHR

Candidate Answer: 3) A special Roads Authority
LCACRINECE Y RCa|

QID : 269 - Fossil fuel causes a lot of

Siared $9 9gd IR B SR §dT1 2 |
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Options:
1) Energy

2) Pollution
REAR

3) Transportation

4) Conservation
R&fUT

Correct Answer: 2) Pollution

Uguul

Candidate Answer: 2) Pollution

gy

QID : 270 - is used to launch an object in space.
Sidfeer T Tt avg &1 waftd e & fae T IUANT fara ST B
Options:

1) Rocket
RAdhe

2) Orbit

Edll

3) Telescope

4) Galvanometer

e

Correct Answer: 1) Rocket

R[be

Candidate Answer: 1) Rocket

R[be

QID : 271 - Which of the following rivers is called the world’s most polluted river?

Fofafed & 4 forw 78 31 fay &1 9o ugiia 7 #g1 o 82
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Options:

1) Ganga River
T et

2) Chenab River
[ERIEEE

3) Cauvery River
EIENEE]

4) Yamuna River

AT St
Correct Answer: 1) Ganga River
e |

Candidate Answer: 2) Chenab River

ICRIER

QID : 272 - Which of the following statements are true about CNG -Compressed natural gas?
Hreoll-Tdifsa mefas 19 & IR & Fgfifed § S o9 9 &3 99 82
Options:

1) It is a clean fuel
T8 TP WO Y ©

2) It is a harmful fuel

I8 U BIPRS U §

3) Itis a polluting fuel

I8 U UGNUDRI S §

4) All of these
g gt

Correct Answer: 1) ltis a clean fuel

T8 U WD 34 §

Candidate Answer: 1) Itis a clean fuel

I8 U WD SY §

QID : 273 - Pick the Odd one out.

SHA DI |
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Options:

1) Rivers
qfear
2) Lakes

B

3) Reservoirs
SIAR™Y
4) Springs

Correct Answer: 4) Springs

g

Candidate Answer: 4) Springs
e

QID : 274 - Look at the list and find out how many substances are insoluble in water? [Sugar,
Soap, Powder, Salt, Stones, Rice]

Tt oY SR 3R Tt R o faran gerd urt & srgasiia 82 [@T, I, U8R, THG, URR,
]

Options:

Correct Answer: 1) 3
3

Candidate Answer: 2) 2
2

QID : 275 - Do you think we can make use of rain water?

FIT 3D AT § b 57 01 oIt T SUGNT IR Fobdl 372
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Options:

1) No, rain water can't be used as it is salty water.

e, a1 SIct BT STINT g1 [T off Hehall il Ig TRI U

2) Yes, rain water can be used after filtration and chlorination.

BT, aul JId BT ITANT e 3R FARIFIHR0T & §1G fadl S Wbl g |
3) No, dirt can't be separated from rain water.

T, SIRRT & U & et DI 31er a1 fban S Febd|

4) None of these.

T A DI T,

Correct Answer: 2) Yes, rain water can be used after filtration and chlorination.

g, auf ofet 1 IugNT e iR sk & sre far o godi 2|

Candidate Answer: 2) Yes, rain water can be used after filtration and chlorination.

BT, 91 ST T IUTNT e 3R FARIHIBRUT & §IC fhaT o Jobal gl

QID : 276 - A base material that is used to make something else is called

T8 SNTUR Tt RorepT SUaNT it 3= % &) &) & b ofrell 2, eard &
Options:

1) Raw material
H=l HId

2) Ready material
GRIRE: ]

3) Minerals
el

4) All of these

g gt

Correct Answer: 1) Raw material
H=l HId

Candidate Answer: 4) All of these
g it

QID : 277 - Which one of the following processes of weathering belongs to both mechanical and
chemical weathering?

3 o1 FEfiRad & I o1 At ufehan i 3R IRfAE 1 YR & 3uar A Jofed 82
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Options:

1) Crystallization

2) Exfoliation

THBITeeRH

3) Hydration

4) Carbonation

CACIERIE]

Correct Answer: 1) Crystallization

[ERNIERI

Candidate Answer: 2) Exfoliation

TRIBIIRH

QID : 278 - The most important item of export among marine products from India is
YR J gt S & fafd & el deayl o g
Options:

1) Crabs
PhS
2) Lobsters

[NIERERS
3) Shrimp

4) None of these

T A B T

Correct Answer: 3) Shrimp

it

Candidate Answer: 2) Lobsters

(Y]

[NIEARS

QID : 279 - Lungs of Earth are

g & BHS o
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Options:

1) forest of Venezuela

T BT ST

2) forest of California
BRI &1 Shre
3) forest of Amazon
S{HGI BT ST

4) forest of Himalaya

feTerg &1 S|

Correct Answer: 2) forest of California

SHfemifar &1 Sa

Candidate Answer: 3) forest of Amazon

3T P ST

QID : 280 - Where does a rabbit live?

WA BT Tgdl 872

Correct Answer: 1) burrow

foret

Candidate Answer: 1) burrow

foret

QID : 281 - Which of the following mineral functions by building strong bones and teeth?

frafafad & & oF a1 @i e gfgal oiR gidl &1 Aeied 991 &1 BT ol 82
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Options:

1) lodine
SIRICIE]

2) Calcium

Ficrray
3) Iron

el
4) Sodium

gifsaw

Correct Answer: 2) Calcium

Care

Candidate Answer: 2) Calcium

PRy

QID : 282 - Fats are composed of:
AT B &
Options:

1) oxygen, nitrogen, and hydrogen

&rﬁ%ﬂaq,?ﬁameﬁ?m@m

~

2) carbon, Sulphur and hydroge

W TR 3R BIZSIoH

3) carbon, hydrogen and oxygen
PIe, FTEGIoH 3R

4) carbon, Sulphur, and nitrogen
PHIa, TR 3R ATZeIoH

Correct Answer: 3) carbon, hydrogen, and oxygen

BT, TESISH 3R SHTerfIor

Candidate Answer: 1) oxygen, nitrogen, and hydrogen

SfTerdTor, ATSCIoM 3R

QID : 283 - This approach uses plasmolysis to dehydrate microbial cells, causing them to perish.

%@WW&ﬁWW%WWWWW%W%W
Bl STt B
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Options:

1) Heating

gifeT

2) Smoking
Your

3) Pasteurisation

LIERCRY

4) Sugaring
T SR

Correct Answer: 4) Sugaring

A SR

Candidate Answer: 3) Pasteurisation

LIERCR

QID : 284 - Mustard oil and kerosene are liquids.
TR BT ad 3R Y w1 GRGRAUES
Options:

1) Miscible
[EELID)

2) Immiscible
Sffargitg

3) Soluble

RERIK]

4) Insoluble

C BRI

Correct Answer: 2) Immiscible

Syt

Candidate Answer: 3) Soluble

BRI

QID : 285 - Which of the following materials is hard?

fofaad & 4 &9 91 uerf $eR 82
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Options:

1) Cotton
U

2) Paper
DTS

3) Sponge
RSl

4) Table
gcd

Correct Answer: 4) Table
gcd

Candidate Answer: 4) Table
gcd

QID : 286 - What is a homonym?
FAHR <eg 172
Options:

1) Identical name of two different taxa
QI Q- S{THT IR T THI AT
2) Two or more names of same taxon
U g1 ¢a F al AT al ¥ S A
3) Name given to a taxon in local language
R YT & ¢ i e mar A
4) Species name repeats the generic name

TSI T A8 TIHT A1 &) SIe<Tal 8

Correct Answer: 1) Identical name of two different taxa
Gl S{ERT-S{TRT ¢l BT THH 1

Candidate Answer: 2) Two or more names of same taxon

UH g e & g AT al § 31 9

QID : 287 - An example of a biotic component of mountain regions is ?

ddita & & Sifde Uch BT T a0 82
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Options:

1) Snow
I5 & =g o
2) Water
gt

3) Rock

EEL
4) Yak

RIcg

Correct Answer: 4) Yak
gih

Candidate Answer: 4) Yak
gl

QID : 288 - The plants make their own food by the process of ?
e SO Hio @1 Uik GRT W S 67
Options:

1) Respiration
GOk

2) Photosynthesis
PEINEEIRLY

3) Stimuli

ol

4) Excretion

IS

Correct Answer: 2) Photosynthesis

THT YIAYUT

Candidate Answer: 2) Photosynthesis

THT YIAYUT

Siat gRT SafIS  YedRT UM &Y ufshar Bt & U H ST ST 82

QID : 289 - The process of getting rid of wastes by organisms is known as

?
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Options:

1) Respiration
CNE

2) Photosynthesis
PEIRISRRLLY

3) Stimuli

REGE

4) Excretion

IS

Correct Answer: 4) Excretion

RESSE

Candidate Answer: 4) Excretion

RESEL

QID : 290 - Motion of an electric fan is ?

fatefl o U &t 71fd gl 87
Options:

1) Circular motion
ATHR T

2) Rectilinear motion
Ry T

3) Periodic motion
Tafee T

4) all of these

Bl

Correct Answer: 1) Circular motion

ATHR T

Candidate Answer: 1) Circular motion

ATHR T

QID : 291 - Falcon is a bird which flies with a maximum speed of 320 km per hour. Calculate its
speed in metre per second:

Pledh T et § 5t 3ifipar 320 frdt ufa 9 &1 1fd T Isar 81 MR ges! 1fa Hier ufd Ik s #:
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Options:

1) 118.8 m/s
118.8 HIA
2) 98.8 m/s
98.8 Wi/
3)60 m/s
60 HIR

4) None of these

T A P T

Correct Answer: 4) None of these

3T A B T

Candidate Answer: 4) None of these

T A IS T

QID : 292 - is a safety wire which protects us from electric shocks and electric
fire.

TP YR IR ¢ ot X Tl & e 31k foroTelt Pt 3T S ]

Options:

1) Earth wire

3 IR 1 T 9§ ST IR

2) Neutral wire

doRI/Ycd dR

3) Live wire

d1gd dR 41 fagg+g dr

4) None of these

I8 A FIS

Correct Answer: 1) Earth wire
3 IR a1 o § T AR
Candidate Answer: 1) Earth wire
31 AR 1 T ¥ ST IR

QID : 293 - Materials, which do not allow electricity to pass through them easily, are called of
electricity.

3 uerd, St faggd &1 30 3R F S A ToRA B 3, fiqgqd P B
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Options:

1) Deflectors
ERRE

2) Insulators

EEINED

3) Conductors

4) Absorbers

3TN DH

Correct Answer: 2) Insulators

EEINED

Candidate Answer: 2) Insulators

EEINED

QID : 294 - A freely-suspended bar magnet rests in:
WA Y JACHAT 7T Uh B¢ gradh R gl 872
Options:

1) north-south direction
ITR-GI&0 fe=n #

2) east-west direction
gd-ufge fa=m A

3) north-east direction
IWR-yd fe=m d

4) any direction by chance

[T A g ot fown A

Correct Answer: 1) north-south direction

ITR-cfemr fg=m o

Candidate Answer: 1) north-south direction

JIWR-glgmn fe=m o

QID : 295 - The boundaries of the earth plate are known as:

fYaex Tam WR 2 digar &1 Y& &
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Options:

1) Seismic zone and Fault zone

1 dlirall aTel 4ehy & & T[T 31feeh ife=rett
2) Seismic zone and Mantle

1 clierdl arel Yeb U ¥ AR TAT 3D Afaasmmet!
3) Mantle zone and Inner core

1 Tl o by H & T[T SHfUD fckr=mreit
4) Fault zone, Mantle and Inner core

1 T & YT I Y AT A fara=ment

Correct Answer: 3) Mantle zone and Inner core

1 dlierdl & YebU J & T[T 3{feeh Qfckr=redt

Candidate Answer: 1) Seismic zone and Fault zone

1 diterall aTel by o & T[T 31 ife=rett

QID : 296 - The earth’s plate responsible for causing earthquakes is
I8 9 ¢ forad gt g & aRY iR 3o ufkssar ot &=elt §
Options:

1) the crust of the earth
365.25 ot

2) the mantle of the earth
340 fa

3) the inner core of the earth

325 faq

4) the outer core of the earth

360 fa

Correct Answer: 1) the crust of the earth
365.25 fad

Candidate Answer: 1) the crust of the earth
365.25 fad

QID : 297 - Sparkers can be seen on electric poles. Which wires become

TR P B W fSoTelt & T IR R ) o wepell §
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Options:

1) Loose

gt

2) Tight
Hl g3l
3) Wrinkle
fRrep

4) None of these

P el

Correct Answer: 1) Loose

Gl

Candidate Answer: 1) Loose

Gl

QID : 298 - A device used to test whether an object is carrying charge or not is called
Tl avg TR 1A § AT Tt SHBT TAEUT 3 aTal JUBRUN ! T Had 872
Options:

1) Electrometer

ERESEIN

2) Charge metre
el Hiex

3) Electroscope

~

4) Chargoscope

Correct Answer: 1) Electrometer

gaaeHIeR

Candidate Answer: 1) Electrometer

ERESEIN

QID : 299 - The process of seeping water into the ground is known as

S & urh Ream ) ufesa Y ETSASIGIE|
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Options:

1) Filtration

=i

2) Infiltration

AT (37ct: TG)

3) Both Filtration and Infiltration
I e SR T (3id: Wa)
4) None of these

T A B T

Correct Answer: 2) Infiltration
AT (3{d: "a)

Candidate Answer: 2) Infiltration
AT (3fd: VgH)

QID : 300 - The type of pollution which is likely to affect Taj Mahal in Agra to a greater extent is
TG T 98 UHR R 3TRT & dromed TR T e THIG TS Bt JHTET §
Options:

1) air pollution

RIREAN

2) water pollution

oI et UgWur

3) soil pollution

Hal UeuT

4) noise pollution

eaf UGy

Correct Answer: 1) air pollution

arg aguot

Candidate Answer: 1) air pollution

RIREAN
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